(RUE—NERTREEE (TSR JEHHAMER

FREBAKRE (HF6FE128268 (R)~SMIE1H6B(A)]

gHH RN B H AR
SH6EI12H14H SHIFE1ATH XK 24 AR
12817 X 17 X 21 B
12818H XK 1H8H K 21 B
128218 * 1A11H * 21 AR
128248 X 1A14B X 21 B
12H25H Kk 1B158 K 21 BFE

(RIEFEXEEMEISHERMER

FEXRFIRAE (FM6FE128298 (B)~FHMIFE1H48(+))

gHH RN = AR
SH6EI12H14H SHM7E1A5H H 22 AfS
12H15H © 1A5H ©H 21 BFE
128218 * 1A =+ 21 AR
128220 ® 1A12H B 21 B4
1282880 1A18H =+ 21 AR

[(EFRR—YEIE—]EHEMIER

EXFIAZE (FM6F128278 () ~FMIF1A3H (F))

SEHH REH = HHR
SH6E12H148 SHTEIRAIH & 26 AR
128198 XK 1H9R & 21 EHFS
128218 1A11B =t 21 ARS
12826 & 1168 K 21 EHFS
(FPHREEHZIH]ISHIBER
SHH RENH B H AR
SH6F12HA14H * SHM7E1A5H B 22 HfH
128158 H 1H6H B 22 AR
12H16H A 1H7H X 22 HH
128178 % 1H7H X 21 B
1281880 X 1H88B K 21 B
128198 XK 1H9R XK 21 B
128208 % 18108 2% 21 HFE
128218 1B11A =+ 21 B
12A22H B 1H12H =] 21 BHE
128238 A 1H13H B 21 B
128248 X 18148 X 21 B
128258 K 18158 K 21 B
128268 K 1H16H & 21 HRE




(FiRE/NERTRREEZ)EHBREER
FERERAE (SF65E128258 OKk) ~SF7E1H6H ()]

EHH =] EHERE
SF6&E12H12B K SMIE1IBTR X 26 AR
128148 1A78 % 24 AR
128178 X 1A9H =K 23 B
128190 K 1A98 XK 21 AR
128218 =t 1A11A =+ 21 AR
128248 X 1148 X 21 AR

(DLEVEPMERTRREZ]EHHMER
EXREHMAE (HH6F12H208 () ~HH7E1A38 ($))

EHH RHA B HEAR
SH6E12H14H SH7E1H5H  H 22 A
128178 X 1A7B % 21 AR
12198 K 1H9H K 21 AE
128218 * EEERE: 21 B
12H24H X 18148 % 21 A
12826H K 1A16H K 21 B
128280 =+ 1A18H 21 B4

(EA/NERTRREZ]IEHAMIER

ERFIBAE (FM6FE128258 OK) ~FMIFE1H48 (1))

SHH REHH = HHR
SH6E12H12H & SH7E1A5H  H 24 B
128138 £ 1A5H =] 23 B
12815H H 178 X 23 B
12H17H X 1H7H X 21 HF4E
1219 K 1H9H K 21 BFE
12H20H & 1HA10H & 21 HFH
128228 H 1812 A 21 B
12824 X 1148 X 21 B

(BEOFENMNERTREEE]EHHAMER
FEREBRARE (HF6FE128288 (1) ~HHIE1H48 (X))

EHHA IREH = HHR
SH6E12H15H H SHM7E1HA5H  H 21 AR
12817 X 1878 &k 21 B
12H20H & 1HA10H & 21 HFH
12A22H B 1HA12H =] 21 BE
12248 X 18148 % 21 B
128278 % 1A17B £ 21 BE

(KithERTRREZE]EHHRIER

FERFI/AE (FM6F128298 (H) ~FH7IFE1H8H (K))

gHA IREH = HHR
SM6F12HA14H =+ SH7TEIAIH K 26 ARS
12H15H B 1H9H N 25 HFH
12H19H K 1A11H T 23 HFH
128210 18118 =% 21 AR
12A26H K 1A16H K 21 B
12280 = 1818 = 21 AfS




(LY NEERTREREEZ]ISHMRER
EXRFIMARE (SF6FE128258 k) ~SF7E186H (H))

SHA REH = HHR
SH6E12H13H £ SHMIEIHTH X 25 AR
128148 1H7B X 24 BFS
128178 X 1108 % 24 B
12820 = 110 £ 21 BFE
128218 1B11B * 21 B
12H24H X 18148 % 21 BFE

(EEE/MERTREEZ]EHHBEER
EXRFEIMARE (SF6FE128258 k) ~SF7E186H (H))

gHH RN B AR
SH6EI12H12H K SHIE1ATH X 26 AR
128148 * 1H7TH X 24 BFS
128178 X 1H98 =K 23 B
12198 K 1H9H XK 21 BFE
12821 * 1A =+ 21 AR
128228 H 1A12H B 21 B4
128248 X 1A148B X 21 A

(e M ERMTEREZE]FEHARER
ERFMKE (HH6E128278 () ~HHTEI A48 (1))

gHH RENH & H 2R
SH6E12H15H H SHM7E1A5H B 21 AR
12817H X 1H7H X 21 BFE
1281980 &K 1H9H XK 21 A
128228 H 1A128B 8 21 AR
12824H X 1A14H X 21 B
12H26H K 1A16H =K 21 B

(D3oFuFRZERTIE HARMER

ERFIHAE ($M6FE12H28H8 (£)~FHMIF1A3A(E))

gHH IRENH B H AR
SH6F12H148B £ SH7E1A5H A 22 B
128158 | 1HA5H =] 21 B8
12H17H X 1HA7H X 21 HFE
12H19H K 1H9H K 21 HFHE
12A20H i 1H10H & 21 HFE
12A21H T 1A11H T 21 BFE
12H22H B 1HA12H B 21 B
12H24H X 1A 14H P 21 BFE
12H26H N 1A16H N 21 HFE
12H27H & 1A17H & 21 HFH




UhFhERTRREZE]EHHRER

EXRFIMARE (SF6FE128258 k) ~SF7E186H (H))

SHA REH = HHR
SH6EI12H12H K SHMIEIHTH X 26 AR
128148 1H7B X 24 BFS
128178 X 1H98 & 23 B
12198 K 1H9H XK 21 BFE
128218 1B11B * 21 B
12H24H X 18148 % 21 BFE

(A E/NFRTRREZ]EHARMER
EXREMAE (HH6F128258 k) ~HH7E1 A48 (1))

gHHA REH = HARE
SH6E12H148 £ SH7TE1IA5H  H 22 A
12H15H B 1HA5H B 21 B
12B17H X 1H7H X 21 BFE
128218 1Bt 21 B
12H22H 8 1H128 8 21 BHS
128248 X 1148 X 21 EHFS

(GElhEERTRREZE]EHHRIER

FEREBRKRE (HF6FE12827H () ~SHMIE1H6A(A)]

gHH RENH & H 2R
SH6E12H15H H SHIFE1ATH X 23 AR
12817H X 1H7H X 21 BFE
1281980 &K 1H9H XK 21 AR
128218 1A12B © 22 AR
12H22H =] 1A12H =] 21 AE
128248 X 1A14B X 21 AR
12826 K 1A16B =K 21 AR

(EzEAREITEHHRER

EXFIRAE (FM6F128298 (H) ~FHM7FE1H8H (K)]

EHH A1 H B B
TH6F12H148 £ THIFIAIE K 26 HRS
128196 & 1H9B =X 21 B
128218+ 1A11E £ 21 HfE
12H26H & 1160 & 21 B
128280 + 1H18H £ 21 HRY




